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(b)

2. (a)

X1lY
pairs of observations are | 6 | 14| while the correct
816
XlY
values are | 8 | 12| btain the correct value of the
6|8

coefficient of correlation.

Obtain the two lines of regression which are best
fit for the following data :

X 11213 4 3 6 7

Y 9181101211 |13 | 14

The equations of two regression lines obtained in a
correlation analysis are 6X+10Y =119 and
2X +3Y =12 . The variance of Y is 4 . Find

(i) The mean of X and Y
(ii) Coefficient of correlation
(ii1) Variance of X

(iv) Covariance of X and Y

9. (a) Distinguish between positive and ney

UNIT -V

correlation.

(b) Fit a st line in the following data

y 2 3 4 5

(¢) A, B, and C are three mutually exclusive
exhaustive events associated with a randi

experiment. Find P(A) given that P(B)= 1 (
and EDHWEE.

(d) State Baye's theorem

X
© If p(x)=115’ x=1,2,3,4,5
0  elsewhere
3
Find thAaAM RVQ
2 2
H If tw uw% and tw n%\msa variance (u,)
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probabilities that the Bonus scheme will be 6. (a) Ar. v X has the density function
introduced if . Y and z becomes managers are
3 1 d 4 ivel 1
HloJ .Mm: «m. respectively. S, ~dexed
flx)= 4

0  elsewhere
(1) What is the probability that Bonus scheme

will be introduce, and )
Obtain

(i) If the Bonus scheme has been introduced , .
what  is the probability that manager () P(x<1)
appointed was X ?

(i) Px1>1)
(b) A random variable X has the following probability

distribution :
NN RN A |
(b) Explain what is meant by a random vy
Distinguish between a discrete and a .
Bn Mk [ 13k | 15k E random variable. Define distribution functiog
random variable, i

(i) P(2x+3>35)

() Determine the valye of k.

UNIT -1v

(i) Find P(X <3), p(x =3), P(0 < X <5) 7. (a) The joint probability distribution of two ry iq

variables X and Y is givenby P(X =0,y =

(iii) What  is the smallest value of x for which nwv Px=1y=-_1 .HJ%CWH l,y=1)~
P(x<x)>05 2 3 3

Find

(iv) Find the distribution function of X. (i) Marginal distribution of X and Y and

(4) (5) P.T.0,)

15t




